HEE7—F)—hE FRB0EEI1LAREZS KR #8 : 20184118188
25 INELESHNEZBNLESG
FE  #INmT7T—F)—HE

XIiE : Bh

R B FA 70M

JIE 132 K% g3 70M(1) 70M(2) HEt
1|4BXR & =BEm7—FI—HE& 249 278 527
2| BB A EHFE7—Fz)—HE 252 227 479
3IiE & ERT—F)—HE 211 237 448
AlFNE EBE BET7—F)—1% 168 181 349

R B +FB 70M

JIE 152 K% g3 70M(1) 70M(2) =11
1| K& #H# ENT—F)—thE 233 207 440
2|FER E& EMT7—F)—HE 218 204 422

DEBTF 70M

JIE 132 K% =3 70M(1) 70M(2) =11
1EA HE ERILER 304 309 613
VAPCES = VN ENRER 291 295 586
IR E— ERILER 271 301 578
4|5 HIEH ENHRER 302 273 575
oMK BEX EMHRER 282 287 569
6|l JTE EMTESEER 287 270 557
1|&% A ERILER 259 288 547
8lixs BE ENMTIESEER 254 284 538
OHER Imtst EREESK 269 261 530
10|17 & EREESK 264 255 519
11| % EREESK 238 268 506
12|%h 88 ENMTIESEER 240 248 488
13|BaTER K& ERILER 247 226 473
14| F% &A ENMTIESEER 220 243 463
15|28 thig EREESK 237 217 454
16| T #&A EMTIESEER 197 251 448
17| L7 eiE EREESK 196 234 430
18| (= BIZEEK 0 0 0

DELZF 70M

JIE 152 K4 g3 70M(1) 70M(2) =11
1(miE WHE EREESK 287 268 555
2(1=H MiE EREESK 252 263 515
[ BH E EREESK 240 258 498
A1B# ALk ENMTIESEER 190 206 396
5|#K F= EREESK 209 183 392
6|5 HrL EREESK 185 162 347
T|RIE i EREESK 144 178 322
8|#&ME HIER EREESK 128 174 302
9|=E8 BF ENMEEER 0 0 0




FvTvy bxF  60M

JIE 152 K% FriE 60M (1) | 60M(2) =11
1(HZE BE BETT7T—F) B 282 273 555

CP 50M

JIE 132 K% FriE 50M(1) | 50M(2) =11
1[RINE #H1E 87— ) —HE 322 331 653
2|5H EZ EWRT7T—F)—BE 325 321 646
3|#HE EHE EWRT7T—F)—B& 312 304 616
A5 K 2z EWRT7T—F) & 286 289 575

50/30m

JIE 132 K% FriE 50M 30M =11
1BER &BA& EWRT7T—F) & 245 294 539
2080 EE ERILER 244 279 523
|/ EE ENMTIESEER 162 246 408
R EMTESEER 120 206 326

18/12m

JIE 152 K% FriE 18M 12M =11
1[ER EE #EtTh7—F)—HS 261 302 563




